	Letter
	Binary Code

	A
	01000001

	B
	01000010

	C
	01000011

	D
	010000100

	E
	01000101

	F
	01000110

	G
	01000111

	H
	01001000

	I
	01001001

	J
	01001010

	K
	01001011

	L
	01001100

	M
	01001101

	N
	01001110

	O
	01001111

	P
	01010000

	Q
	01010001

	R
	01010010

	S
	01010011

	T
	01010100

	U
	01010101

	V
	01010110

	W
	01010111

	X
	01011000

	Y
	01011001

	Z
	01011010


Binary Basics  0101100

To the left, you will see the binary codes for the uppercase letters.  Write your first name in all capital letters and then translate each letter into binary.








_________________________ =  _________________________


        (your first name in all caps)                         (your first name in binary)








Which way do you prefer to write your name?  When you press these letters on a computer keyboard, they are all compressed down to a bunch of ones and zeroes…the only two numbers a computer understands!





How to you write numbers in binary?  Well let’s first take a look at how we write our numbers in base ten.








________ ________ ________ ________


103           102           101           100


		1000          100            10               1


	                thousands          hundreds                tens                    ones





So the number 1478 is 1000+400+70+8 where the 1 is in the thousands place so it represents one thousand.  The 4 is in the hundreds place so it represents 4 hundred.  The 7 is in the tens place so it represents 7 tens or seventy.  The 8 is in the ones place so it represents 8 ones or eight.





Base 2 or Binary





________ ________ ________ ________ ________


  			     24 	           23             22              21              20


			    16               8              4                2               1





In Base 10, we can use 10 digits (0,1,2,3,4,5,6,7,8,9) in any one place.  In Base 2, we can only use 2 digits (0 or 1).  The zero means we don’t want to count the value and the one means we do want to count the value.  For example, to write the number 15 in binary, we can’t use the 16 but we can use the 8, 4, 2, and 1 (8 + 4 + 2 + 1 = 15).


                                   0             1	   1	       1            1


________ ________ ________ ________ ________


  			     24 	           23             22              21              20


			    16               8              4                2               1
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